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Solve each equation by factoring.

1)  a2 - 2a - 48 = 0 2)  x2 + 7x + 10 = 0

3)  x2 + x - 12 = 0 4)  x2 + 2x - 48 = 0

5)  2n2 + n = 6 6)  10n2 = -21 - 41n

7)  3x2 - 2 = -x 8)  5b2 = -8 - 14b

9)  3n2 = 12 + 5n 10)  49x2 = -91x - 40

11)  3k2 + 17k = -10 12)  7b2 - 4 = -27b



©Z s2\0c2M1K uKJuutjaI sS[oTfEt]wMakrGeK oLPLoCV.d N _AElvlE fraiSgfhptNsh PrWeOsDeFrsvHeJdq.N [ bMhaPdUev jwIiMtThW cIZnFfxiNnKi\t_eC ]AslfgPeEbdrzaq M2C.

Worksheet by Kuta Software LLC

-2-

Factor each completely.

13)  4v2 - 12v + 9 14)  x2 - 8x + 16

15)  25x2 + 30x + 9 16)  16n2 - 24n + 9

Identify the vertex and axis of symmetry of each.  Then sketch the graph.

17)  y = x2 - 4x + 4
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18)  y = x2 + 6x + 13
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19)  y = -x2 - 6x - 15
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20)  y = x2 - 4x
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21)  y = x2 - 12x + 33
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22)  y = x2 - 2x - 4
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Sketch the graph of each linear inequality.
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24)  y £ -3x - 4
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26)  y £ x - 2
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Sketch the solution to each system of inequalities.

27)  y < -x + 1
y > -4x - 2
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28)  y ³ x + 2
y < 6x - 3
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29)  y < 
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30)  y ³ -
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Solve each equation with the quadratic formula.

31)  6n2 + 5 = 7n 32)  10a2 - 10a = 10

33)  2m2 - 52 = -5m 34)  11x2 = -11


